MATH 332
Guiz VI /é//

December 10, 1880 Name -
1. Complete the Tollowing DEFinition: The rank of the linsar transformation
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2.For the linesr transformation T({(x.y.2}) = (x+2y+2,~3%-5Y~ ‘H
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7 a.Thiz is a linear transformation from A5 to I~ .

2 b.Find T{{-2,1,-3)) = {;-3}3;{;}

— -3
. . . . N - {

. €. written in matrix form T(x} = AX, A= /o iﬁ
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. 0. What is the rank of T7? -
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5 e.18(2,3,-2) in the kerne! {null space; of T7

r(23,-2) = (8,#) 2095w
7. 1s {13,-5} in the range gof T7? 3
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. 3, Show that T: Mgs - B is a linear transformation, where T is defined by:
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_ 4. Complete and prove: The nullspace {kernel) of the linear transformation
A T: V —» W is 2 subspace of 1 . pade]
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